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Attempt any Five questions.
All questions carry equal marks.
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Explain the factors that shift the demand curve. 10
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Analyse the effect of “minimum price legislation™ using
demand and supply curve. 10
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What is ‘consumer surplus’ ? 7
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Explain the derivation of demand curve using indifference

curve analysis. 13
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Explain the law of diminishing returns to a factor. 10
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Discuss the factors that determine the shape of the long

run average cast curve. 10

dFEE dhm @A T B smeR @ fawifa
FEH A FRH F faa=m Ffeg



(3) 7613

(@) Explain the short-run equilibrium of a firm under perfect

competition market. 10
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(b) Explain allocation efficiency under perfect competition
market. . 10
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Compare output levels and prices under monopoly and

perfect competition. 2
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(@) Explain the prisoner’s dilemma. 10
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(b) Explain the entry barriers in oligopoly. 10
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(@) Explain input demand in the short-run. 10
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(b) What factors determine elasticity of demand for

inputs 7 10
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8. Write short notes on any two of the following : 10+10

(@) Comparative advantage theory

()  Market failure

()  Economic Rent,
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